Solutions to Chapter 4-Review.notebook November 05, 2015

Wﬂ) Ch&p“rcr 4 - Chapter Test {Wcﬁﬂ B(:o@
MuLTTPLE CHOICE
. Which of the J;O".lewfﬁq cquations IS true ?

@ sin 60° = sin 120° C. sin 45° = —sin 135°
B. sin 80° = —sin 80° D. all of these

2. Calculate tan 18° ta four decimal places.
Predict another expression +hat equals +an 18’

A. —4.7046; tan 102° C. 4.7046; —tan 78°
(B))4.7046; —tan 102° D. none of these
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3 Which law or combination of laws would you
use o determine the measure of X IR
This triangle ?

18 cm
A. the cosine law, once 14 cm : ;

B. the sine law, twice
@ both the sine law and the cosine law

D. neither the sine law nor the cosine law

4. Determine the \an\g%—h of X, To +he nearest

meter.
g Bm X oo o= 13
< - SIN3H°  Sinlge
nge = X Sinigi= 13 Sin3H°
Sy’ Sin 118°

X=8.2mM or ¥m

A. 118 m C. Ilm

B. 15m (®)8m



Solutions to Chapter 4-Review.notebook November 05, 2015

G. Tn ARST,«R=29° s=8.4m ,and +=58m.

7
Which statement s true £or this se+
of measurements ?

A. This is an S84 situation; no triangle is possible.
B. This is an SSA situation; only one triangle is possible.
C. This is an S54 situation; two triangles are possible.

: : .1
@ This is not an SSA situation; only one triangle is possible. ¥ MIISS! NG T

p—

A u
T. Which would you use +o

determine +he”’ lengthof X 7

A. the primary trigonometric ratios

B. the sine law
C. the cosine law

@ None of the above: x cannot be determined.
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3. Determine Hhe measure of X
1o +he nearest deqree.

x ] 18m
SinX = sin M
aX 18
AZFSin X = d4 Sin 14’
5 |
Sin X = 0.3226
X = Sin~' (0.3226)
X =19°
A. 10° C. 11°
19° D. None of these;

x cannot be determined.
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9. Determine the ‘.:re%—h of X ) To thenearest tenth

of a centimeter:

3\
\ 12cm
Q/ 5

x*=10.0 cm

= ()20 204 (12)cos52
=16+ (44-96(0.6157)
X*= 160-59.1072

= 100.8928

x = VNI00.5928

X

= [0.0cm
%X = 6.8
Sinll3®  Sin42)’
ST = 6.8SIinll3°
Sraa SIn442’

xX=9Yem
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10. Determine Hhe measure of (93 +o0 +he nearest

|
q<gree . — - - -
CosQ=(45)%(3.6)=(37)
2(4.5)(3.6)
37cm 16 em cos© =2025+1296-13.69
32.4
4 CosC®= [952
45cm \,32”
6§=53°

Cos® = 0.6025
O = cos~ ' (0.6025)
©= 53°
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|
) 1

|, Determine +he [enath of % 4o +the nearest

tenth of a centifmme®der and the measure
of & 1o +he nearest degree.

- - w* =12 0+ (154)=202.0))5.4)Cos0
A= 9N+ 23716 -369.6(0.5)
120 cm *[y.0em x'=3R%.16—184.]

12,.0 4.0
14-0sin®= 12.08NE0C’°
146 4.0
SIn® = O.T423
Q= sin™'(071423)
Q= 48°
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acuwl <

-
Tﬂ &ABL . LR: L‘—IO)O\: S,Scm’ b=6.0cv~q

pE———

fD,Ad'«\;mz )‘\*Q | oL "'P\dn\eS ‘\'\'\0& afe Posé|\o\a

Stee) = This s SOA

STeEPa’, h= bsmA
W= Osm®
h=3.Tem

5P 3. 6l\W D \*(\grﬁ\z s Fosézuc.

&Y
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12. Trn AABC <A=4T7 , a=3.5cm,and b=8.0cm.
Determine ~ Fhe number of +riangles (zero,one,
or two) that are possible. Draw™a diagram Fo
Support Jour answer. |

Since <A I's acute and Q<b, L need to
Check ‘the heggh‘f“ "h.

— h_= bsinA
h=358.0 sin“7°
h= 3. 7cm

*

a<h, therefore No T anale is possible,.
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&) A moss s S\.\Semé(’& on & \{r\’(\\ £ cocd.

M ends of e cord are atlacked The
C.e{\\'\'g \.qv«\ qeo.r{‘. W 6\(1)\(5 &b\'r‘\ab \Q\J

(L cﬁ{\\N) ond h\Q Co¥ A are 20 and D)
D&cf«\\}u JfLm \eh\qf\’\-\ o~ Co(é, Jto J(\Nz (\nc«essv

fenth of o enslc -

c %
anC SO
L AN
S i3
CSmDd = \Wam2
siiled sl
C = 0.67

:\Sq'\r\ Gf

10
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13. A mass s suspended on a len of a cord.
The ends of the cord are ngc:he.d Ay
t+he ceiling 1.4 m opart. “The angles
formed b\}J J”\‘w: ceiling and ‘+the’cord
are 26° and 32° Detrermine the ;er\ +h
of the cord , +o the nearest tenth ¢

a mMeter.
.9 m Y S V.
260 i Sin32° Sini122°
X 222"y XSint2® = 1.4 Sin02°
Sim+2Z° (Sin 1220
Mass X = 0.9 m
A W P Total l\f‘_ n\g—l"h
SinwG” Sin 122° of COT o
Sip22° = |.MH Sinddg®
S22’ Srn 122° OC9mM+0.7m

B=O-7m = [.&m.

11
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